Predictions - 1

This set of exercises aims to increase your ability to predict based on an equation, by
evaluating and solving it.

Example: Given the table, first compute the equation of the line, then solve and evaluate
to predict indicated data.

t(s) (C)

q(C)

-120 2399.9994
4300 q?

t? -111600.0006
8070 -161400.0006

Solution:

The equation of a line given two points:

a-q; _ q2-aq1 _, 4(t)=2399,9994 _ —161.400,0006-2.399,9994
t-q1  tr—qq t—120 - 8.070—120
t) — 2.399,9994
1) 120 =-20 - q(t)=-20t—600x%x107°(C)

Evaluating: (4.300) = —20¢t — 600 X 1076 — g = —20 * 4.300 — 600 x 10~°
qg= —86x10*C

— -6
Solving: =20t — 600 X 1076 = —111.600,0006 - t =~ 222D

t =5.580s
Answer:

Equation: q(t) = —20t — 600 x 107® (C),t = 5.580s,q = —8,6 X 10* C.
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1. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

-120
4300
t?

8070

~ 1Y
g i)

2399.9994

q?
-111600.0006
-161400.0006

2. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t?

235
719
809

22
q?
7.19
8.09

3. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t(s)

-0.664
0.001
t?
0.957

Y
Y i)

q?

-0.04005
-17.0001
-38.2801

4. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

=70
t?
63.5
63.6

~ 1Y
g i)

-3500.1
22249
q?

3179.9

5. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

-833
-734
t?

-218
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6. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s)

-9.69¢-05 a?

-6.66e-05 -1.334e-06
-1.37e-05 -1.863e-06
t? -2.968e-06

7. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) Fras

Y\

-4620 4620000.2

-1540 q?
t? -959999.8
4760 -4759999.8

8. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(=) Fras

4\

-9.35 -374.0002
t? -297.6002
-6.58 -263.2002
9.98 q?

9. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

Py
Y )

-0.000687 0.000897

t(s)

t? 0.000257
0.00029 q?
0.000711 -0.000701

10. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

Tl
Y i)

t? -24799.999
-469 -23449.999
-419 -20949.999
234 q?
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11. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s)

-4.79-06 q?

t? -4.189e-06
6.36e-06 -4.636e-06
7.59e-06 -4.75%e-06

12. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

-
qi)

-0.58 0.0029002
t? -0.0098498
3.92 q?

4 -0.02

13. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)
-3.5e-05 q?
14 -0.04937
4.37e-05 -0.04563
9.37e-05 -0.04063

14. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) PP,

Y\

-4380 -175203

-1200 q?
t? -34003
540 21597

15. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)

-0.000864 q?

-0.00049 -0.068
t? 0.0988
0.00039 0.108
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16. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

o
)

t(s)

-0.998 0.978
-0.226 q?

t? -0.224
0.832 -0.852

17. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)
-0.000928 0.01886
t? 0.01326
-5.3e-05 0.00136
0.000444 q?

18. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) (C)

Y1)

-6.23e-05 -0.010623
-4.62e-05 -0.010462
t? -0.010425
5.31e-05 q?

19. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

v FY
Y i)

-7.61 -1521.98
t? -1163.98
-5.28 -1055.98
4.19 q?

20. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

.
Y )

t(s)

-0.487 -0.19485
0.164 0.06555
0.227 q?

t? 0.26635
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21. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t?

0.089
0.279
0.295

~ ™)
q ()

-0.382
g?
0.258
0.29

22. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

-268
-103
t?
527

q?

-412000.04
1023999.96
2107999.96

23. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t?

0.0051
0.0061
0.0722

Y
q )

-0.08
0.082
q?

1.424

24. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t(s)
-0.0911
-0.0514
t?

0.051

Fras
Y\

-0.01922
q?
-0.01052
0.0092

25. Given the table, first compute the equation of the line, then solve and evaluate to

predict indicated data.

t(s)
-0.000961
-0.000459
14

-0.000151
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26. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

rast
i)

-568 -227.2001
-245 -98.0001
510 q?

t? 245.7999

27. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)

-6650 -66.5

290 q?
t? 72.4
9800 %

28. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

-82 246
777 233.1
727 q?

t? -20.4001

29. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

1660 8.3
3930 19.65
6310 a7

t? 42.95

30. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

T q (C)

-5440 -543999

t? -40999
-40 q?
6030 603001
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31. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s)

= L)

-8330 q?

2520 1260000.5
t? 1610000.5
4600 2300000.5

32. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)
-0.000758 q?
t? -0.0003
0.0006% 0.00691

0.000725 0.00726

33. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

e
P L

-7.54e-05 -2.7738e-06

t(s)

-6.15e-05 q?
t? -2.8233e-06
-2.1e-06 -2.9937e-06

34. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

-1100 q?
t? -76
720 288

35. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q(C)

)

-8.36e-05 -0.047492

-7.89e-05 -0.047633
-5.88e-05 q?
t? -0.052688
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36. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

Y
q i)

t(s)

-0.00938 6.2e-0
-0.00409 q?
-0.00397 6.03e-06
t? 1.878e-05

37. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t (s) q (C)
-0.00892 0.0016432
-0.00646 q?
-0.00108 0.0019568
t? 0.0021304

38. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

o
Y\

-1.71e-05 4.93e-06

t(s)

t? 1.9e-06
5.28e-05 -1.604e-05
6.36e-05 q?

39. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s)

-79.2 q?

t? -12.6
35.1 70.2
82.4 164.8

40. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

~ ™)
g

t? -3.9914e-05

-5.75e-05 q?
-5.15e-05 -3.9948e-05
7.9e-05 -4.0079e-05
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41. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)
-0.00797 q?
-0.00336 0.0013443
t? 0.0003523
0.00991 -0.0039637

42. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

¢y

t (s) q(C)
t? -2.214e-05
6.8e-06 5.04e-06
5.54e-05 q?
8.1e-05 2.73e-05

43. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

Fiy

t(s) q (C)
t? -1040.01
207 -4140.01
415 q?
459 -9180.01

44. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

=

t(s) q (C)
t? -5.031
-3.25e-05 -5.013
2.16e-05 q?
4.83e-05 -4.9807

45. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t (=) i

= LYy

-7.36e-05 0.004944

3.67e-05 q?
t? 0.00022
8.86e-05 -0.001544
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46. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s)

-0.0828 q?
t? -0.44

0.0734 -0.704
0.0941 -0.911

47. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

e
VRS

t? -0.000559
-0.000223 q?
0.000104 0.000134
0.000544 0.000574

48. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

=

t(s) g (C)
-8.17e-05 0.03368
-5.25e-05 q?
-1.89%e-05 0.00856
t? -0.00148

49. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

t(s) q (C)
-1.35e-05 -1.4e-07
t? 1.644e-06
3.9e-05 q?
5.16e-05 2.464e-06

50. Given the table, first compute the equation of the line, then solve and evaluate to
predict indicated data.

A
Y i)

t(s)

-0.0926 q?

-0.0454 -4.51e-05
t? -2.05e-05
0.0347 3.5e-05
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51. Given the equation, compute y? and x?
y =2x+2x107%,  y?ifx=-815  x?ify=-196,8
52. Given the equation, compute y? and x?
y = 40x — 0,04, y?if x = —0,00608, x?if y =—0,266
53. Given the equation, compute y? and x?
y = 1.000x — 0,03, y?if x = —0,000373, x?if y =0,086
54. Given the equation, compute y? and x?
y = —0,3x +3x 1078, y?if x =—195, x?if y =—2,898
55. Given the equation, compute y? and x?
y = —0,2x —1x 1075, y?if x =3,71, x?if y=-0,12201
56. Given the equation, compute y? and x?
y = —0,2x —5x 107% y?if x =—-1,51x 1076, x?if y =0,00049903
57. Given the equation, compute y? and x?
y = —40x —3 x 1073, y?if x = 51,9, x?if y =2.075,997
58. Given the equation, compute y? and x?
y = 0,02x +2 x 1073, y?if x = 0,332, x?if y =-—0,01146
59. Given the equation, compute y? and x?
y = —0,1x + 3 x 1078, y?if x =0,497, x?if y =0,075997
60. Given the equation, compute y? and x?
y = x+3%x1075  y?ifx=-673, x?if y =307
61. Given the equation, compute y? and x?
y = —100x + 0,04, y?if x = 0,0535, x?if y=-—4,26
62. Given the equation, compute y? and x?
y = —20x — 0,04, y?if x = =20, x?if y =2.179,96
63. Given the equation, compute y? and x?
y = —2x + 0,005, y?if x =171, x?if y =—1.837,995

64. Given the equation, compute y? and x?
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y = 0,03x — 0,002, y?if x = —0,00485, x?if y =-0,0022103
65. Given the equation, compute y? and x?
y = 0,4x + 0,003, y?if x =0,171, x?if y=-0,0182
66. Given the equation, compute y? and x?
y = 20x + 0,03, y?if x = —6,69, x?if y =75,63
67. Given the equation, compute y? and x?
y = 0,005x — 5% 1077, y?if x = —0,695, x?if y =0,0041345
68. Given the equation, compute y? and x?
y = —200x + 0,05, y?if x =—0,0831, x?if y =-10,95
69. Given the equation, compute y? and x?
y = 40x — 0,001, y?2if x =1x1077, x?if y =-—0,003912
70. Given the equation, compute y? and x?
y = 4.000x — 0,2, y?if x = —6,32 X 107, x?if y =-0,2066
71. Given the equation, compute y? and x?
y = —0,04x + 0,005, y?if x =—0,0778, x?if y =0,005884
72. Given the equation, compute y? and x?
y = —30x + 0,2, y?if x = —2,94 X 1076, x?if y =0,20016
73. Given the equation, compute y? and x?
y = —10x + 0,5, y?if x =—0,000374, x?if y =-0,50489
74. Given the equation, compute y? and x?
y = 300x — 0,1, y?if x = —0,128, x?if y=-319
75. Given the equation, compute y? and x?
y = —0,3x —3x 1075, y?if x = 2,45, x?if y=—2,634
76. Given the equation, compute g? and t?
q(t) = 10t —5x107* (0), q?if t =—0,00183 s, t?if q = —0,0489 C
77. Given the equation, compute g? and t?
q(t) = 2t —3x 1073 (C), q?if t =6.020 s, t?if q = —16.580,003 C

78. Given the equation, compute g? and t?
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q(t) = 0,2t +6x107°(0), q?ift=094s, t?if g =-1,0739C
79. Given the equation, compute g? and t?
q(t) = 0,02t —5x107*(C), q?if t =—0,00476 s, t?if q = —0,0003816 C
80. Given the equation, compute g? and t?
q(t) = 0,02t + 3 x 1078 (C), q?if t =0,00558 s, t?if q = 0,00015643 C
81. Given the equation, compute g? and t?
q(t) = 0,01t +5x 1077 (C), q?if t =235s, t?7ifq=22C

82. Given the equation, compute g? and t?

q(t) = —40t —5x 107> (C), q?if t = —0,664 s, t?if q =—17,0001C
83. Given the equation, compute g? and t?

q(t) =50t —-0,1(0), q?if t =635s, t?if q =2.2249C

84. Given the equation, compute g? and t?

q(t) = 3x1073t—-1x1077(0), q?if t =—-734s, t?if q =—-1959C
85. Given the equation, compute g? and t?

q(t) = —10x 1073t —2x 1075 (C), q?if t =—9,69 x 1075 s,
t2if g = —2,968 X 1076 C

86. Given the equation, compute g? and t?
q(t) = —1.000t + 0,2 (C), q?if t = —1.540s, t?if q = —959.999,8 C
87. Given the equation, compute g? and t?
q(t) = 40t —2x107*(0), q?if t =9,98s, t?if q = —297,6002 C
88. Given the equation, compute g? and t?
qt) = —0,4t+5x107*(C), q?if t =-7,46s, t?if q =-3,3075C
89. Given the equation, compute g? and t?
q(t) = =100t + 6 (C), q?ift=-29x10"°s, t?if g = 5,9909 C
90. Given the equation, compute g? and t?
q(t) = =10t + 2 x 107* (0), q?if t =51,5s5, t?if g = —356,9998 C

91. Given the equation, compute g? and t?
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q(t) = 5x1073t —1x1077(C),  q?if t = —0,00806 s,
t2if g =1,94%x1075C

92. Given the equation, compute g? and t?
q(t) = —20t — 0,04 (C), q?if t =-20s, t?if q =2.179,96 C
93. Given the equation, compute g? and t?
q(t) = —2t— 0,005 (C), q?if t=171s, t?if q = —1.837,995C
94. Given the equation, compute g? and t?
q(t) =0,03t —0,002 (C), q?if t =—0,00485 s, t?if g = —0,0022103 C
95. Given the equation, compute g? and t?
q(t) = 0,4t + 0,003 (C), q?if t=0,171s, t?if g =-0,0182C
96. Given the equation, compute g? and t?
q(t) = —4t—6x107*(0), q?if t =8920s, t?if q = 33.919,9994 C
97. Given the equation, compute g? and t?
q(t) =—20t+ 0,03 (C), q?if t=—6,69s, t?if q =7563C
98. Given the equation, compute g? and t?
q(t) =5%x1073t—-5x%x10"7 (C), q?if t=-0,695s, t?if g = 0,0041345C
99. Given the equation, compute g? and t?
q(t) = —200t + 0,05 (C), q?if t = —0,0831s, t?if q=—-10,95C
100. Given the equation, compute q? and t?

q(t) =40t —1x1073(0), q?if t=1x10"%s, t?if g =—0,003912C
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Answer:

1m = —20%, b = —-600x107C, t? =558x10%s, ¢q? = —8,60x10*C
22m = 0,01C/s, b =-5%x10"7C, t? = 220x10%s, q?= 2,35C

3.m = —40C/s, b = -5x10"5C, t? = 425x10"1's, q? = 2,66x10'C
4m =50C/s, b=-01C, t?=445x10's, ¢q? = 3,17x103C

5.m = 0,003C/s, b= —-1x10"7C, t? =-653%x10%s, q? = —-220C

6.m = —0,01C/s, b=-2x10"°C, t?=968x10"°s, q?=
-1,03x107°C

7.m = 1.000C/s, b =02C, t?=960x10%s, q?= 154x10°C

8m =40C/s, b= -2x10"*C, t?= —-744s, q? = 399x10%C
9.m = —1C/s, b =1x10"°C, t?= -247%x10"*s, q? = —280x107*C
100m = 50C/s, b =1x1073C, t? = —496x%x10%s, q? = 1,17x10*C

11.m =-0,1C/s, b =—-4x10"°C, t?=189x10"%s, q?=
-3,52x107¢C

122m = =5x1073C/s, b =2x1077C, t?=197s, q?=-196x%x10"%2C
13.m = 100C/s, b = —0,05C, t? = 630x10"%s, ¢q? = —535%x107%C
14.m = 40C/s, b = —3C, t? = —-850x10%s, q? = —480x10*C
15.m = 200C/s, b = 0,03C, t?=344%x10"*%s, ¢q?=-143x107"!C
16.m = —1C/s, b = —0,02C, t? = 2,04%x10"1s, ¢? = 206%x10"1C

17.m = —20C/s, b = 3x107%C, ?= —648x107*s, q? =
—8,58 x 1073 C

18.m = 10C/s, b = —0,01C, t? = —4,25%x107°s, q? = —947%x1073C
19.m = 200C/s, b = 0,02C, t? = —-582s, q? = 838x10%C

200m =04C/s, b= -5x10"5C, t?=666x10"1s, q? = 9,07%x1072C
21.m = 2C/s, b =-03C, t?= —-410x10"%s, q? = —-122x1071C
22.m =4.000C/s, b =-004C, t? = 256x%x10%s, q? = —1,07%x10°C
23.m =20C/s, b =-0,02C, t?=-3x10"3%s, ¢q?=102x10"!C

24.m =0,2C/s, b =-0,001C, t?=-476%x10"%s, q? = —1,13x1072C
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25.m =3C/s, b =-001C, t?= —-338x10"%s, ¢q?= —-114%x1072C
26.m =0,4C/s, b=—-1x10"*C, t?=6,17%10%s, q? = 2,04%x10%C
27.m =0,01C/s, b= -1x1077C, t?=724x10%s, q?=29C

28.m =-3C/s, b= -5x10"5C, t?=68s, q?= 218x10%C

29.m =0,005C/s, b =1x10">C, t?=859%x10%s, q? = 3,16x10'C
30.m =100C/s, b =1C, t?= —-41x%x10%s, q? = —4x103C

31.m =500C/s, b =05C, t?=322x10%s, q?= —-416x10°C

32z2m =10C/s, b =1x1075C, t? = —-3,1x107%s, ¢q? = —7,57%x1073C

33.m =-0,003C/s, b=-3x10"°C, t?= —-589%x107°s, q? =
-2,82x107°C

3.m =0,4C/s, b=1x107"°C, t?=—-19x%x10%s, q?= —44x10*C
35.m =—-30C/s, b =-0,05C, t?=896%x10"%s, q? = —482x1072C

36.m =1x1073C/s, b =1%x10"°C, t? =878x1073s, q?=
591x1076C

37.m =40%x1073C/s, b =2x1073C, t?=326%x10"3s, q?=
1,74 x 1073 C

38.m =—-03C/s, b=-2x1077C, t?=-7%x10"%s, q? = —193x107°C
39.m =2C/s, b= -1x10"°C, t?= -63s, q? = —-158x10%C

40.m =—-1x10"3C/s, b =—-4x107°C, t? = —-857%x107%s, q? =
-3,99x107°C

41.m =-0,4C/s, b=3x1077C, t?=-88x10"*s, ¢q?=3,19%x1073C
42.m =03C/s, b=3x107"°C, t?= —-838x10"°s, q? = 196%x10"°C
43.m =-20C/s, b =-001C, t?=52x10's, ¢? = -83x103C
44.m =400C/s, b =-5C, t?7=-79%x10"°s, q? = —499C
45.m =—-40C/s, b =2x1073C, t? = 445%x10"%s, q? = 532%x107*C

47.

m
m
m
46.m =—-10C/s, b =0,03C, t?=47%x10"%s, q? = —858x1071C
m =1C/s, b =3x107°C, t?= —-589x%x107*s, q? =-193x10"*C
m

48.m =—400C/s, b =1%x1073C, t?=62x10"%s, q?=22x10"%2C
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49.m =0,04C/s, b

50.m =1x1073C/s,
—9,23x1073%C

51.y? = —1,63 x 102,
52.y?=—2,83 x 107},
53.y?= —4,03 x 1071,
54.y?=5,85x 1071,
55.y?=—7,42 x 107},
56.y? = —5x 107%,
57.y? = —2,08 x 103,
58.y? = —8,64 x 1073,
59.y?= —4,97 X 1072,

=4x1077C, t?= 311x10"5s,

b =3%x1077C,

x?=-9,84 x 10!
x?=-5,65x 1073
x?=1,16 x 10~*

x?=9,66
x?=6,1x1071

x?=4,85%10"°

x?=-5,19 x 10*
x?=-6,73x 1071
x?=-7,6x10"1

60.y?=—6,73 X 102, x?= 3,07 x 102
61.y?=-531, x?=4,3x1072
62.y?=4x10% x?=-1,09 x 102
63.y?=—3,42%x 102, x?=19,19 x 102

64.y?=—2,15x 1073,
65.y?=—53 x 1072,
66.y? = 1,34 x 102,
67.y?=—3,48 X 1073,
68.y?= 1,67 x 10%,
69.y?=—6x 107*,
70.y? = —2,25 x 1071,
71.y?=8,11x 1073,

72.y?7=2x10"1, «x

73.y?= 5,04 x 1071,
74.y? = —3,85 x 10},

Introduction to Electricity,

x?=-7,01x1073
x?=7,14 X 1072
x?=-3,78
x?=8,27 x 1071
x?=5,5x 1072
x?=-7,28x107°
x?=-1,65x10"°
x?=-2,21x1072

?7=-53x10"°

x?=4,89 x 107*
x?=-1,06x 1071

Danilo Rairan.

t? = —2,08x 107 %5,

q? =196 x107°C

q? =
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75.y?=-7,35x 101, x?=28,78
76.q?=-1,88x1072C, t?=-484x10"3s
77.q?=12x10*C, t?=-829x10%s
78.q?=1,88x10"'C, t?=-537s
79.q?=-595%x10"*C, t?=592x1073s
80.q?=1,12x107*C, t?=7,82x10"35s
81.q?=235C, t?=22x10%s
82.q?=2,66x10'C, t?=425x10"'s
83.q?=3,17x103C, t?=4,45x10's
84.q?=-2,2C, t?=-6,53x10%s
85.q?=-1,03x107°C, t?=9,68x107°s
86.q?=1,54x10°C, t?=9,6x10%s
87.q?=3,99 x10°C, t?=-7,44s
88.q?=298C, t?=8.27s

89.q?7=6C, t?=9,14x107°s
90.q?=—-515x%x10°C, t?=3,57x10's
91.q?=—4,04x1075C, t?=39x1073%s
92.q?=4x10%C, t?=-1,09x10%s
93.q?=-3,42%x10%C, t?=9,19x10%s
94.q?=-2,15%x1073C, t?=-7,01x10"3s
95.q?=7,14%x1072C, t?=-53x10"?%5s
96.q?=3,57 x10*C, t?=-848x10%s
97.q?=1,34x10°C, t?=-3,78s
98.q?=-3,48x1073C, t?=827x10"'s
99.¢q?=1,67x10'C, t?=55x%x10"2s
100.q?=—-6x10"*C, t?=-7,28x10"5s
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